SCREW

CD 136 PK SERIES

2000h at 105°C

= Features
e Standard at 105°C

® RoHS Compliant '
= Applications Tlonger life

¢ Professional Inverters and Power Supplies CD1358P 105°C CD 136 PK

Items Characteristics
Operating Temperature Range (C) _40 ~ +105 25~ +105
Voltage Range (V) 25~100 160 ~ 450
Capacitance Range (uF) 220 ~ 33000
Capacitance Tolerance (20°C, 120Hz) + 20%

After 5 minutes at 20°C application of rated voltage, leakage
Leakage Current (uA) current is not more than 0.01CV or 5mA, whichever is smaller.
C: Nominal Capacitance (uF) V:Rated Voltage (V)

Dissipation Factor (20°C, 120Hz) Less than values shown in the standard ratings
Useful Life Load Life Endurance Test Shelf Life
Lifetime >4000h >200000h 2000h 2000h 1000h
Leakage Current Not more than specified value Not more fhan Nof more fhan Notf more fhan
specified value specified value specified value
Capacitance Change Within + 30% of inifial value Within + 20% of initial | Within + 10% of initial | Within = 20% of initial
value value value
. 5 - Not more than 200% of | Not more than 130% of | Not more than 200% of
Dissipation Factor Not more than 300% of specified value specified value specified value specified value
Condition: After test:
Applied Voltage U, U, U, U, U,=0 |U, fo be applied
Applied Current I 1.2x1, e l,=0 I, =0 L()Qrﬁ?gurfw r
Applied Temperature 105°C 40C 105°C 105°C 105°C meosui ?n Zm
Dimensions mm Part Number System (Ex: 400v3300uF)

) ) ECG 2G PK 332 M D 130 Y O
Insulation sleeve  Insulation plafe _ = - ==

* Terminals
Mounting Style
- Length(130mm) | B |Bolt Mounting
g Diameter Code T g:zg g;ggtg
o 725 7777777 i Capacitance Tolerance(+20%) [N [No Bracket
Rated Capacitance(3300uF) Diameierl Code
Series Code (CD136) 36mm A
L+2max Rated Voltage ﬂmm <D3
Electrolytic Capacitor Screw Type 77mm E
90mm F
100mm G

Ripple Current Coefficient

37 Frequency(Hz)

50/60 | 120 300 1K >10k
Rated Voltage(V)
M12x16 25~100 0.95 | 1.00 1.04 1.10 1.15
[M8x12 for ©36) 160~250 0.90 | 1.00 1.08 1.15 1.20
350~450 0.80 1.00 1.18 1.35 1.40
©D/mm 3 o1 b4 7 70 Ambient Ti ic 40 55 70 85 105
P/mm 12.7 220 282 314 314 mbient Temp(¢)
25~100V 4.9 3.9 3.0 1.8 1.0
*Hex head screw M5 x 10 and Mé x 12 are standard screws. Coefficient 160~250V 3.8 3.3 2.5 2.0 1.0
Longer screws are available on request. 350~450V | 2.44 2.28 2.12 20 1.0
*Max tightening torque for screw ferminanl M5: 3Nm, Mé: 4Nm.
Max froque for bolt mounting M12: 12.5Nm. The useful life can be prolonged by operating capacitor at loads below the rated
*Screws, Bracket and cap nut will be delivered separately. values (e.g. lower operating voltage, Rms ripple current or ambient temperature)
See “Accessories” for shape and dimensions. and by appropriate cooling measures.

Itis advisable not to apply a ripple current exeeding the rated ripple current
without any cooling measures as this will shorten capacitor’ slife.




Jianghai CD 136 PK SERIES

Ratings for CD 136 PK Series

- Rated A Rated
(sl?rz; R (R:zted Dlst(llpcc:g:’” TypESR | Ripple Size (SLlJJng o | rated DlstgJC?:?n WoER | Riople o
Voltage) SOP 20, 20C, Curent | qpy| P/N Voltage) Capa- 20C 20°C, Cument | opyl P/N
Code citance 120Hz 120Hz 105, Code citance 1 20H'z 120Hz 105°C,
120Hz 120Hz
(v) (uF) = (mQ) (Arms) | (mm) - (v) (uF) = (mQ) (Arms) (mm) -
10000 0.35 25 29 36x53 | ECGIEPK103MA05300 470 0.15 265 1 36x53 |ECG2CPK471MA05300
15000 035 20 42 36x83 |ECGIEPK153MA083010] 680 0.15 186 1.1 36x53 |ECG2CPK68IMA0S300]
22000 0.40 13 5.1 36x83 |ECGIEPK223MA0830I0] 1000 0.15 125 17 36x83 |ECG2CPK102MA0830100
2 33000 0.40 10 63 36x100 | ECGIEPK333MA100010] 1500 0.15 85 2 36x83 |ECG2CPK152MA083010]
(32) | 47000 0.40 7 8 51x75 |ECGIEPK473MC0750100 160 2200 0.15 55 27 | 36x100 |ECG2CPK222MA100000]
1E 68000 0.50 6 10 51x115 | ECGIEPK683MC1150101 (22%0) 3300 0.15 38 35 51x83 |ECG2CPK332MC083010]
100000 0.60 5 1.3 64x96 | ECGIEPK104MD096010] 4700 0.15 35 44 51x96 |ECG2CPK472MC0960100
150000 0.80 4 12.9 64x115 | ECGIEPK154MD115010 6800 0.15 25 59 64%96 |ECG2CPK682MD0960100
220000 1.00 3 14.8 77x115 | ECGIEPK224MET1500 10000 0.15 15 7.6 77%x96 |ECG2CPK103ME096100
330000 1.00 2 19.9 | 90x131 |ECGIEPK334MFI3100 15000 0.15 11 103 | 77x130 |[ECG2CPK153ME13000
6800 0.30 25 2.6 36x53 | ECGIVPK682MAOS3IT 22000 0.15 6 132 | 90x131 |ECG2CPK223MF13100
10000 0.30 2 37 36x83 | ECGIVPKI03MAOB3OID) 330 0.15 375 08 | 36x53 |ECG2DPK331MA05300
15000 0.30 13 4.5 36x83 | ECGIVPKIS3MA083010 470 0.15 262 1 36x53 |ECG2DPK471MA053010)
32 22000 0.35 10 55 36x100 | ECGIVPK223MA100000 680 0.15 180 11 36x53 |ECG2DPK48IMA05300
(]V) 33000 0.40 7 6.7 51x75 | ECGI1VPK333MC075000 1000 0.15 125 17 36x83 |ECG2DPK102MA08300
47000 0.45 6 8.1 51x96 | ECGIVPK473MC0%40001 200 1500 0.15 75 29 36%100 |ECG2DPK152MA100010]
68000 0.50 5 10 51x115 | ECGIVPK683MC11500) (250) [™5000 0.15 50 28 | 51x75 |ECG2DPK222MCO7500)
100000 | 0.0 4 121 | é4x115 | ECGIVPKI04MD11500 D a0 [ o = 37 | 51x9% |ECG2DPK3Z2MC0%600]
150000 0.70 3 138 77x115 | ECGIVPKI54ME1 15001 4700 015 o4 19 6496 | ECG2DPKA72MDO9610]
220000 0.70 2 176 | 90x131 |ECGIVPK224MF13100 4500 015 ” %3 %ix115 |ECC2DPKE82ZMDI 15000
3300 0.20 0 2.2 36x53 | ECGIHPK332MAO5300] 10000 | 0.5 12 8.1 | 77x115 |ECG2DPKI0O3MET1500]
) 025 36 3.3 36x53 | ECGIHPK472MAOSSOID] 15000 | 0.5 6 109 | 90x131 |ECG2DPKI53MF13100]
6800 | 025 32 34 | 36x83 |ECGIHPKB2MACBSID] 330 0.15 160 08 | 36x53 |ECG2EPK33IMAOS3OIC]
5% 10000 0.25 2 4] 36x83 | ECGIHPK103MA083010] 0 DG 5 i 36x53 |ECG2EPKAT IMACS3LIL]
(63) |_15000 0.30 14 49 36x100 | ECGIHPK153MA100010] 480 015 o5 14 26x83 |ECG2EPKE8IMABILD)
H 22000 035 10 59 51x75 | ECGIHPK223MC0750000 1000 015 55 19 | 36x100 |ECG2EPKI02ZMAI0ODIL
33000 0.40 7 7.8 51x115 | ECGIHPK333MC115000 250 1500 015 © s s1x75 |ECG2EPK152MCO7500
wow | o | s | s [ enis |ecommamonson] | = 2o | m T a1 Toixse Jecemmemmninn
100000 0.50 4 14,1 77x115 | ECGIHPK104ME11500 — — = = bax96_|FCCIEPRITIMDITEL
150000 0.50 3 189 90x 131 | ECGIHPKI54MF131000] = — L =t bex 115 [ECGIEPKATZVD] IS
a0 015 || 1| St [rco o O T N Y I e
3300 0.20 50 2.2 36x53 |ECG1IPKISZMACS3OI) 15000 0115 6 12..2 ZS: :23 ECG2EPKI 53MF157§§
4700 0.20 36 3.1 36x83 |ECGIJPK472MA083TI] 1000 o5 o 25 S v |Gl Ao oo
) 6800 0.20 25 37 36x83 | ECGI1IPK682MA0830 0 :
(79) | 10000 0.25 20 44 36x100 | ECG1JPKI03MA10000 1200 0.5 20 3 51x96_|ECGIGRKIZ2MC09010]
1 15000 025 ” < 51x75 |ECGIIPKI5aMC07500 1500 0.15 49 36 | 51x115 |[ECG2GPK152MC11500
T o m 55 RN 1800 0.15 39 41 51x130 |ECG2GPK182MC1300I00
33000 0.30 7 9.2 64x96 | ECG1JPK333MD09601C] 2200 0.15 0 45 e
47000 | 035 6 109 | 64x115 | ECGIIPK473MDI 15000 27001 015 2 53 1 64x115 {ECG2GPK272MD11SU0)
68000 | 0.40 5 13| 77x115 | ECG1IPK683ME15000) = zzgg 8:2 ?g ji 2‘:: :22 Eggzgigzzmg: zggg
100000 0.40 4 172 | 90x131 [ECGIJPKI04MF13100 (450) : :
2200 0.5 ) 21 3653 | ECGIKPK222MAOS30 0] 26 3900 0.15 18 68 77x115_|ECG2GPK392ME1 1500
3300 G % 3 36x83 | ECGIKPKA3MAOB3LIL] 4700 0.15 13 8.7 64x195 |ECG2GPK472MD19500
2700 015 27 36 36x83 | ECGIKPKATZMAS3LD 4700 0.15 13 7.8 77x130 |ECG2GPK472ME130000]
“8(%) 4800 0.20 TS 4 362100 | ECGIKPRG82MAIO00IL] 5600 0.15 12 9.6 64x195 |ECG2GPK562MD19500
X 10000 020 7 52 5175 | ECGIKPKI03MCO75000) 5600 0.15 12 9.2 77x155 |ECG2GPK562ME15500]
15000 025 0 o2 5796 | ECGIKPKI53MC096010) 6800 0.15 1 107 | 90x157 |ECG2GPK682MF157000
33000 0.30 7 97 77%x96 | ECGIKPK333ME0946010] 10000 0.15 9 14.1 90x196 |ECG2GPK103MF1960000
47000 0.30 6 125 | 77x115 | ECGIKPK473ME1 15000 220 0.15 415 11 36x53 |ECG2WPK221MA0S3CIC]
48000 0.30 5 164 90x 131 | ECGIKPK683MF13100 330 0.15 277 1.5 36x100 |ECG2WPK331MAT000IO
1000 0.15 70 1.4 36x53 | ECG2APK102MA053010] 470 015 195 2.1 51x83 |ECG2WPK47TMC08300]
1500 0.15 55 17 36x53 | ECG2APK152MA0530000 450 680 0.15 135 2.7 51x96 |ECG2WPK681MC096101
2200 0.15 38 25 | 36x83 |ECG2APK222MA08300] (500) |20 0.15 %0 42 | S1x100 |ECG2WPKI02MCI000I0)
3300 0.15 25 3 36x83 | ECG2APK332MA0830101 oW 1500 0.15 54 57 51%130 |ECG2WPK152MC130000
4700 0.15 21 39 36x 100 | ECG2APK472MA1000001 2200 0.15 33 7.3 64x 115 |ECG2WPK222MD11500
100 6800 0.15 19 5 51x75 | ECG2APK482MCO750100 3300 0.15 2 10.1 77x130 |ECG2WPK332ME130000
05 Moo | o015 13 65 | 51x96 | ECG2APKI03MC09600] 4700 | 015 15 126 | 77x155 |FCGIWPK472MFTSSCI]
15000 0.20 9 7.6 64x96 | ECG2APK153MD096000 5600 0.15 ] 158 | 90x157 |ECG2WPKS562MF157000
22000 0.20 7 9.7 77%96 | ECG2APK223ME09410] Mounting code(” B” for bolt mounting, “Y/I/N” for bracket mounting )ﬂ
33000 0.25 4 1.8 77%130 | ECG2APK333ME1300000 Terminal options(A,B,C see “Dimensions” for details.)
47000 0.25 5 15 90x131 | ECG2APK473MF131000

Customer products are available on request.




